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Question Id : 92090612660 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

Why aircraft lessors’ woes may lead to costlier flights

New Delhi: Record high airfares hurting passengers could rise even further
following yet another instance of foreign lessors facing roadblocks in repossessing
their aircraft from a troubled Indian carrier. Leasing aireraft could cost 20-25% more
for startups and financially weak Indian carriers after the Go First case where lessors
are now barred from taking their planes back for at least six months unless the
NCLAT gives them some relief people in the know said. Only Indigo and Tata group
carriers led by air India could be spared this increased cost as they are good eredit for
lessors lease rentals account for 10-12% of an airline’s operating cost. A 20-25%
increase in lease rentals will mean overall cost rising by 2-3% which will have to
reflect in ticket prices. Except Al and Indigo it will be very challenging for other
airlines, including startups. NCLT has directed go first erstwhile board to deposit
Rs.5 crore with the resolution professional while the 55 aircraft currently with the
airline are worth over $2.5 billion,” said an industry veteran. Now at the first sign of
trouble in an Indian carrier lessors will line up to responses planes to avoid such a
scenario where an airline uses the IBC route to escape de-registration of aircraft said
another official. In the past also, lessors faced trouble in getting planes back from
airlines such as jet and kingfisher that went bust, with aireraft stuck with the later
being sold as scrap after rotting away at Indian airports. Meanwhile Go's new
management will have to satisfy DGCA that it has the resources to safely operate
flights in term of money manpower and machines.

US engine co PW hits back at Go First, blames ‘financial mismanagement’.
Go First may have blamed Pratt & Whitney (PW) for its troubles but the US
aerospace major has hit back at the airline. “Go First is seeking to jump the line for
engines over other customers worldwide. Airline customers, who have been in good
financial standing and compliant with contracts, should not be made to suffer due to
the financial mismanagement and contractual violations of one particular airline.”
said sources. Over 50 airbus A320neos of Go and Indigo are grounded due to PW
engines. Asked about these planes, a PW spokesperson said “Expect supply chain to
stabilize throughout 2023....7

Sub questions

Question Number : 1 Question Id : 92090612661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Why airfares already too high could rise even further?

(1) Due to raising fuel cost
(2) Due to raising fuel cost maintenance cost
(3)  Foreign lessors facing problems to buy new aircrafts

(4) A troubled aireraft Indian carrier possesses aircrafts from foreign lessers and
has become the root cause for airfare hike.

Options :

92090650001. 1
92090650002. 2
92090650003. 3
92090650004. 4

Question Number : 2 Question Id : 92090612662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yiven below are two statements :

Statement I :  The full form of NCLAT is National company Low Aviatron
Tribural.
Statement I . Full form of DGCA is Director General of Carrier Aviation.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement I and Statement Il are false
(3) Statement 1 is true but Statement I1 is false

(4) Statement [ is false but Statement I is true
Options :
92090650005. 1
92090650006. 2
92090650007. 3
92090650008. 4

Question Number : 3 Question Id : 92090612663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

After which case leasing aircraft could cost 20-25% more?
(1) NCLAT case

{2y DGCA case

(3 Go first case

{4y Al indigo case
Options :
92090650009. 1
92090650010. 2
92090650011. 3
92090650012. 4

Question Number : 4 Question Id : 92090612664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The overall cost raising due to the lease rented issue will be

(1) 20-25%
(2) 10-12%
(3) 2-3%
(4) 10-25%
Options :

92090650013. 1
92090650014. 2
92090650015. 3
92090650016. 4

Question Number : 5 Question Id : 92090612665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Go First is seeking to jump the line for engines over other customers worldwide. The
underlined phrase means:

(1)  To skip the que.
(2)  To skip the que and go to the last place.
(3)  To skip the que while waiting for one’s turn.

(4) To skip the que and go ahead without waiting for one’s turn.

Options :



92090650017. 1
92090650018. 2
92090650019. 3
92090650020. 4

Question Id : 92090612660 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

Why aircraft lessors’ woes may lead to costlier flights

New Delhi: Record high airfares hurting passengers could rise even further
following yet another instance of foreign lessors facing roadblocks in repossessing
their aircraft from a troubled Indian carrier. Leasing aireraft could cost 20-25% more
for startups and financially weak Indian carriers after the Go First case where lessors
are now barred from taking their planes back for at least six months unless the
NCLAT gives them some relief people in the know said. Only Indigo and Tata group
carriers led by air India could be spared this increased cost as they are good credit for
lessors lease rentals account for 10-12% of an airline’s operating cost. A 20-25%
increase in lease rentals will mean overall cost rising by 2-3% which will have to
reflect in ticket prices. Except Al and Indigo it will be very challenging for other
airlines, including startups. NCLT has directed go first erstwhile board to deposit
Rs.5 crore with the resolution professional while the 55 aircraft currently with the
airline are worth over $2.5 billion,” said an industry veteran. Now at the first sign of
trouble in an Indian carrier lessors will line up to responses planes to avoid such a
scenario where an airline uses the IBC route to escape de-registration of aircraft said
another official. In the past also, lessors faced trouble in getting planes back from
airlines such as jet and kingfisher that went bust, with aircraft stuck with the later
being sold as scrap after rotting away at Indian airports. Meanwhile Go's new
management will have to satisfy DGCA that it has the resources to safely operate
flights in term of money manpower and machines.

US engine co PW hits back at Go First, blames ‘financial mismanagement’.
Go First may have blamed Pratt & Whitney (PW) for its troubles but the US
aerospace major has hit back at the airline. “Go First is seeking to jump the line for
engines over other customers worldwide. Airline customers, who have been in good
financial standing and compliant with contracts, should not be made to suffer due to
the financial mismanagement and contractual violations of one particular airline,”
said sources. Over 50 airbus A320neos of Go and Indigo are grounded due to PW
engines. Asked about these planes, a PW spokesperson said “Expect supply chain to
stabilize throughout 2023....”

Sub questions

Question Number : 1 Question Id : 92090612661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Why airfares already too high could rise even further?

(1) Due to raising fuel cost
(2) Due to raising fuel cost maintenance cost
(3)  Foreign lessors facing problems to buy new aircrafts

(4) A troubled aircraft Indian carrier possesses aircrafts from foreign lessers and
has become the root cause for airfare hike.

Options :

92090650001. 1
92090650002. 2
92090650003. 3
92090650004. 4

Question Number : 2 Question Id : 92090612662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jiven below are two statements ¢

Statement I :  The full form of NCLAT 1s National company Low Aviatron
Tribural.
Statement 11 : Full form of DGCA is Director General of Carrier Aviation.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement I are true
(2) Both Statement I and Statement I are false
(3) Statement [ is true but Statement 11 is false

(4) Statement [ is false but Statement I is true
Options :
92090650005. 1
92090650006. 2
92090650007. 3
92090650008. 4



Question Number : 3 Question Id : 92090612663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After which case leasing aircraft could cost 20-25% more?
(1) MNCLAT case

(2) DGCA caze

(3)  Go first case

(4) Al indigo case
Options :
92090650009. 1
92090650010. 2
92090650011. 3
92090650012. 4

Question Number : 4 Question Id : 92090612664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The overall cost raising due to the lease rented issue will be
(1) 20-25%
(2) 10-12%
(3 2-3%

(

4} 10-25%

T

Options :

92090650013. 1
92090650014. 2
92090650015. 3
92090650016. 4

Question Number : 5 Question Id : 92090612665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Go First 1s seeking to jump the line for engines over other customers worldwide. The
underlined phrase means:

(1) To skip the que.
(2)  To skip the que and go to the last place.
(3)  To skip the que while waiting for one’s turn.

(4)  To skip the que and go ahead without waiting for one’s turn.

Options :

92090650017. 1
92090650018. 2
92090650019. 3
92090650020. 4

Sub-Section Number : 2
Sub-Section Id : 920906414
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090612666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Change voice for the given statements ‘Do not tease the monkey’.

(1) Let the monkey be not teased.
(2) The monkey are not being teased.
(3)  Let the monkey not be teased.

(4) The monkey has not been teased.

Options :

92090650021. 1
92090650022. 2
92090650023. 3
92090650024. 4

Question Number : 6 Question Id : 92090612666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Change voice for the given statements ‘Do not tease the monkey’.

(1) Let the monkey be not teased.
(2) The monkey are not being teased.
(3)  Let the monkey not be teased.

(4)  The monkey has not been teased.

Options :

92090650021. 1
92090650022. 2
92090650023. 3
92090650024. 4

Question Number : 7 Question Id : 92090612667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the appropriate meaning the foreign word: ‘carte blanche’

(1) Official intimation
(2) Bad intention
(3) Hair dresser

(4) Full freedom of action

Options :

92090650025. 1
92090650026. 2
92090650027. 3
92090650028. 4

Question Number : 7 Question Id : 92090612667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the appropriate meaning the foreign word: ‘carte blanche’

(1) Official intimation

(2) Bad intention

(3 Hair dresser

(4) Full freedom of action
Options :

92090650025. 1
92090650026. 2



92090650027. 3
92090650028. 4

Question Number : 8 Question Id : 92090612668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions given in order from the options given
below: The daytime temperature increased over two degree _ Delhi _
thursday. The weather station sports complex near Akshrdham recorded 41.1
degree Celsius which was the highest in the city.

(1) by, at, in, of (2) by, in, on, at
(3) by, at, in, on (4) by, at, in, from
Options :

92090650029. 1
92090650030. 2
92090650031. 3
92090650032. 4

Question Number : 8 Question Id : 92090612668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions given in order from the options given
below: The daytime temperature increased over two degree _  Delhi
thursday. The weather station sports complex near Akshrdham recorded 41.1
degree Celsius which was the highest in the city.

(1) by, at, in, of (2) by, in, on, at
(3) by, at, in, on (4) by, at, in, from
Options :

92090650029. 1
92090650030. 2
92090650031. 3
92090650032. 4

Question Number : 9 Question Id : 92090612669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the appropriate direct- speech for the Indirect-speech given below: Alok said, “1
have completed my work.”

(1) Alok tells, “he completed his work,”

(2)  Alok says that his work 1s completed.

(3) Alok said that he had completed his work.
(4) My work is completed; Alok said.

Options :

92090650033. 1
92090650034. 2
92090650035. 3
92090650036. 4

Question Number : 9 Question Id : 92090612669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the appropriate direct- speech for the Indirect-speech given below: Alok said, “ 1
have completed my work.”

(1) Alok tells, “he completed his work,”
(2)  Alok says that his work is completed.

(3) Alok said that he had completed his work.
(4) My work is completed; Alok said.

Options :

92090650033. 1
92090650034. 2
92090650035. 3
92090650036. 4

Question Number : 10 Question Id : 92090612670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word ‘captive’ is: -

(1) Candid (2) Censure
(3) Pragmatic (4) Prisoner
Options :

92090650037. 1
92090650038. 2
92090650039. 3



92090650040. 4

Question Number : 10 Question Id : 92090612670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word ‘captive’ is: -

(1) Candid (2} Censure
(3) Pragmatic (4) Prisoner
Options :

92090650037. 1
92090650038. 2
92090650039. 3
92090650040. 4

Question Number : 11 Question Id : 92090612671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The values of M and N, which satisfy the equation M-N+9=0 and M+3N=19, are
respectively:

(1) 2, -7
(2) 7, -2
(3) 2.7
(4) 2,7
Options :

92090650041. 1
92090650042. 2
92090650043. 3
92090650044. 4

Question Number : 11 Question Id : 92090612671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The values of M and N, which satisfy the equation M-N+9=0 and M+3N=19, are
respectively:

(1) 2.-7
(2) 7, -2
(3) 2.7
(4) 2,7
Options :

92090650041. 1
92090650042. 2
92090650043. 3
92090650044. 4

Question Number : 12 Question Id : 92090612672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 8 =4" =2 and, x+2y+z =35then the value of x is:

(1) 3 (2) 4
(3) 5 4 2
Options :

92090650045. 1
92090650046. 2
92090650047. 3
92090650048. 4

Question Number : 12 Question Id : 92090612672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 8 =4" =2 and, x+2y+z=35then the value of x is:

(1) 3 (2) 4
(3) b (4) 2
Options :

92090650045. 1
92090650046. 2
92090650047. 3
92090650048. 4

Question Number : 13 Question Id : 92090612673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The product of LCM and HCF of any two expression is xxfy+xyiy first expression is (x2+y2)
then the second expression will be:

(1) (x-y) (2) (x+y)
(3) (ri—y=) (4)  (x—y+xy)

Options :

92090650049. 1
92090650050. 2
92090650051. 3
92090650052. 4

Question Number : 13 Question Id : 92090612673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product of LCM and HCF of any two expression is x—xfy+xyZ—y* first expression is (x2+y2)
then the second expression will be:

(1) (x=y) (2) (xH)
(3) (x:-y%) (4)  (x—y+xy)

Options :

92090650049. 1
92090650050. 2
92090650051. 3
92090650052. 4

Question Number : 14 Question Id : 92090612674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; : ; T X
In how many time will a sum of money doubles itself at 7-% simple interest per

i

annum:

(1) 14 yvears 3 months
(2) 13 years 4 month
(3) 13 years 9 month
(4) 13 years 3 month
Options :
92090650053. 1
92090650054. 2



92090650055. 3
92090650056. 4

Question Number : 14 Question Id : 92090612674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. : ; | .
In how many time will a sum of money doubles itself at 7-% simple interest per

“

Annum:

(1) 14 years 3 months
(2) 13 years 4 month
(3) 13 years 9 month
(4) 13 years 3 month

Options :

92090650053. 1
92090650054. 2
92090650055. 3
92090650056. 4

Question Number : 15 Question Id : 92090612675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of money, which will amount to Rs.16,810 in 6 months at the rate of 10% per
annum when the interest is compounded quarterly is :

(1) Rs.16,400
(2) Rs.15,500
(3) Rs.15,000
(1) Rs.16.000

Options :

92090650057. 1
92090650058. 2
92090650059. 3
92090650060. 4

Question Number : 15 Question Id : 92090612675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sum of money, which will amount to Rs.16,810 in 6 months at the rate of 10% per
annum when the interest is compounded quarterly is :

(1) Rs.16,400
(2) Rs.15,500
(3) Rs.15,000
(4) Rs.16,000

Options :

92090650057. 1
92090650058. 2
92090650059. 3
92090650060. 4

Question Number : 16 Question Id : 92090612676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SCM@NLT2Y65aQ$ 7T*WH#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

@ 3 (Z 2
(3 3 (4) 4
Options :

92090650061. 1
92090650062. 2
92090650063. 3
92090650064. 4

Question Number : 16 Question Id : 92090612676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8CMaNLT2Y6SaQ$7*W#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

(1) 1 (2) 2
(3) 3 (4) 4
Options :

92090650061. 1
92090650062. 2
92090650063. 3



92090650064. 4

Question Number : 17 Question Id : 92090612677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement : A college student said, “ everyone desires to buy a personal
computer”
Assumption I : personal computers are not a need but a luxury

IT : Use of personal computers improve gquality of skill.

Which of the above assumption (5) is /are implicit in the statement?

(1) Only assumption |
(2) Only assumption 11
(3)  Assumption | and assumption 11

(4) Neither assumption I or assumption 11

Options :

92090650065. 1
92090650066. 2
92090650067. 3
92090650068. 4

Question Number : 17 Question Id : 92090612677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statement : A college student said, “ everyone desires to buy a personal

computer”
Assumption I : personal computers are not a need but a luxury

IT : Use of personal computers improve quality of skill.

Which of the above assumption (5) is /are implicit in the statement?

(1) Only assumption |
(2) Only assumption 11
(3)  Assumption | and assumption 11

(4) Neither assumption I or assumption 11

Options :

92090650065. 1
92090650066. 2
92090650067. 3
92090650068. 4

Question Number : 18 Question Id : 92090612678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8CMaNLT2Y6SaQ37*W#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

iy 1 (2) 2
(3) 3 (4) 4
Options :

92090650069. 1
92090650070. 2
92090650071. 3
92090650072. 4

Question Number : 18 Question Id : 92090612678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

8CM@NLT2Y6SaQ$7*W#z3UE%A4 How many symbols are there in the above
arrangement which are immediately preceded and also immediately following by a
vowel?

21 . (2) Z
(3) 3 (4) 4
Options :

92090650069. 1
92090650070. 2
92090650071. 3
92090650072. 4

Question Number : 19 Question Id : 92090612679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many number of rectangles are there in the following figure?

(1) 10 (2) 19
(3) 13 (4) 20
Options :

92090650073. 1
92090650074. 2
92090650075. 3
92090650076. 4

Question Number : 19 Question Id : 92090612679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many number of rectangles are there in the following figure?

(1) 10 2) 19
3 18 (4) 20
Options :

92090650073. 1
92090650074. 2
92090650075. 3
92090650076. 4

Question Number : 20 Question Id : 92090612680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 45, where boys are twice that of girls, Geeta ranked eleventh from the
top. If there are 6 boys ahead of Geeta, how many girls are after her in the ranking?

(1) 34 (2) 24
(3) 10 (4) 12
Options :

92090650077. 1
92090650078. 2
92090650079. 3
92090650080. 4

Question Number : 20 Question Id : 92090612680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 45, where boys are twice that of girls, Geeta ranked eleventh from the
top. If there are 6 boys ahead of Geeta, how many girls are after her in the ranking?

(1) 34 (2) 24
(3) 10 (4) 12
Options :

92090650077. 1
92090650078. 2
92090650079. 3



92090650080. 4

Question Number : 21 Question Id : 92090612681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The patient-to-doctor teleconsultation System developed for MoHFW has been named

as:

(1) e-Chikitsa (2) e-Sanjeevani
(3) e-Swasthya (4) e-Nirvana
Options :

92090650081. 1
92090650082. 2
92090650083. 3
92090650084. 4

Question Number : 21 Question Id : 92090612681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The patient-to-doctor teleconsultation System developed for MoHFW has been named

as:

(1) e-Chikitsa (2) e-Sanjeevani
(3) e-Swasthyva (4) e-Nirvana
Options :

92090650081. 1
92090650082. 2
92090650083. 3
92090650084. 4

Question Number : 22 Question Id : 92090612682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many members of Rajya Sabha are nominated by President from science, Art,
literature and social service background?

(1) 20 (2) 8
(3) 12 (4) 15

Options :



92090650085. 1
92090650086. 2
92090650087. 3
92090650088. 4

Question Number : 22 Question Id : 92090612682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many members of Rajya Sabha are nominated by President from science, Art,
literature and social service background?

(1) 20 (2) 8
(3) 12 (4) 15

Options :

92090650085. 1
92090650086. 2
92090650087. 3
92090650088. 4

Question Number : 23 Question Id : 92090612683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Constitution of India Derives its ultimate authority from:

(1) Supreme Court of India (2) Parliament of India

(3) People of India (4) Constitutional Assembly

Options :

92090650089. 1
92090650090. 2
92090650091. 3
92090650092. 4

Question Number : 23 Question Id : 92090612683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Constitution of India Derives its ultimate authority from:

(1) Supreme Court of India (2) Parliament of India

(3) People of India (4) Constitutional Assembly

Options :



92090650089. 1
92090650090. 2
92090650091. 3
92090650092. 4

Question Number : 24 Question Id : 92090612684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Space Hesearch Organisation (ISR0) is planning to launch which mission in
collabhoration with French Space Agency (NES) hy year 20257
(1) Mars Mission (2) Jupiter Mission

(3) Saturn Mission (4)  Venus Mission

Options :

92090650093. 1
92090650094. 2
92090650095. 3
92090650096. 4

Question Number : 24 Question Id : 92090612684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Space Hesearch Organisation (ISR0) is planning to launch which mission in
eollaboration with French Space Agency (NES) hy year 20257
(1) Mars Mission (2) Jupiter Mission

(3) Saturn Mission (4)  Venus Mission

Options :

92090650093. 1
92090650094. 2
92090650095. 3
92090650096. 4

Question Number : 25 Question Id : 92090612685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Quarter erystals used in quarters clock are chemieally: -

(1) Germanium oxide
(2) Silicon dioxide

(3) sodium silicate

(4) mixture of germanium oxide and silicon dioxide

Options :

92090650097. 1
92090650098. 2
92090650099. 3
92090650100. 4

Question Number : 25 Question Id : 92090612685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Quarter erystals used in quarters clock are chemically: -

(1) Germanium oxide
(2) Silicon dioxide

(3) sodium silicate

(4) mixture of germanium oxide and silicon dioxide

Options :

92090650097. 1
92090650098. 2
92090650099. 3
92090650100. 4

Part B: Soil Science Soil and Water Conservation

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section 1d :

920906252
2

Online
Mandatory
75

75

300

Yes

0
1
920906415



Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 92090612686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soil particle movement by wind through saltation process is usually applicable to the
particles of size:

(1) 0.05 mm to 0.50 mm (2) 0.5 mm to 0.75 mm
(3) 0.75 mmto 1.0 mm 4y 1.0 mm to 1.5 mm
Options :

92090650101. 1
92090650102. 2
92090650103. 3
92090650104. 4

Question Number : 26 Question Id : 92090612686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JaaRad- fUshar & wren 8 a1y & gRI g1 S0 Jaa Hdl & 6ol & ufd
ST B

(M o0.0s A Foso @ 2) osfadt. fo7s
@ o7sf W I1of 4) 1.0 315
Options :

92090650101. 1
92090650102. 2
92090650103. 3
92090650104. 4

Question Number : 27 Question Id : 92090612687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The thickness of gravel pack in tube wells generally varies from:

(1) 20to 25 cm (2) 15to 20 cm
(3 8to15cm (4 4to8cm

Options :



92090650105. 1
92090650106. 2
92090650107. 3
92090650108. 4

Question Number : 27 Question Id : 92090612687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tapdl ¥ g8 dre & dlers gmrrad 9% uivafda it 81

(1) 209253 Ht 2) 15¥ 203
(3) 8F 15 4) 498Y s
Options :

92090650105. 1
92090650106. 2
92090650107. 3
92090650108. 4

Question Number : 28 Question Id : 92090612688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The typical sand dunes have a slope on the windward side to a magnitude of:

(1) 1° to 2.5° (2) 25°to5°
(3) 5° to 10° (4) 10°to 15°
Options :

92090650109. 1
92090650110. 2
92090650111. 3
92090650112. 4

Question Number : 28 Question Id : 92090612688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
¥d & urefus ddl & uarfige R st siRes gaq _ A Sl gl g |

(M  1°¥25° (2) 25°d¥s5e
3) 59 10° 4) 10°H15°



Options :

92090650109. 1
92090650110. 2
92090650111. 3
92090650112. 4

Question Number : 29 Question Id : 92090612689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The line drawn on a map connecting the points of equal rainfall depth is called:

(1) lsobar (2) Isohyet
(3) lsotherm (4) Isochron
Options :

92090650113. 1
92090650114. 2
92090650115. 3
92090650116. 4

Question Number : 29 Question Id : 92090612689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fredt ot R uE g meHar & fargefl &1 Saiftid &% arefl W deerdi © |

(1) YHSE ¥ (2) THAY ¥El
(3)  GHAY @Il (4) THBTE @l
Options :

92090650113. 1
92090650114. 2
92090650115. 3
92090650116. 4

Question Number : 30 Question Id : 92090612690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If the length of the slope is doubled, the soil erosion by water will:

(1 Decrease to 0.4 times (2) Increase to 1.4 times

(3) Remain the same (4) Increase twice



Options :

92090650117. 1
92090650118. 2
92090650119. 3
92090650120. 4

Question Number : 30 Question Id : 92090612690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe fr<h grem & arars &) g frar s e Al Sa S gRI g g @IS g |

(1)  04TATSHH (2) 1.4 7 34U
(3) TYEq (4) <R[ gfE g
Options :

92090650117. 1
92090650118. 2
92090650119. 3
92090650120. 4

Question Number : 31 Question Id : 92090612691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an engineering measure for soil and water conservation:

(1) Contour farming (2) Strip cropping
(3) Contour bunding (4) Crop rotation
Options :

92090650121. 1
92090650122. 2
92090650123. 3
92090650124. 4

Question Number : 31 Question Id : 92090612691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frofefed & & S g1 ud o WRem #q e siftmifiet auds € 2

(1) g iy (2) USIGR &Y
(3) gHr U (4) I Add



Options :

92090650121. 1
92090650122. 2
92090650123. 3
92090650124. 4

Question Number : 32 Question Id : 92090612692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Theissen polygon method is used for determination of :

(1) Point rainfall (2) Rainfall intensity
(3 Mean areal rainfall (4) Mean rainfall intensity
Options :

92090650125. 1
92090650126. 2
92090650127. 3
92090650128. 4

Question Number : 32 Question Id : 92090612692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ry aggs uoeh ¥ Frufam ag wyaE Al 2 |

(M g oy PG UGG

(3)  ofrgd &g avo (4) 3{3frgd auur dfigan
Options :

92090650125. 1
92090650126. 2
92090650127. 3
92090650128. 4

Question Number : 33 Question Id : 92090612693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is a non-recording type rain gauge?

(1 Tipping bucket type (2) Symon type
(3) Float type (4) Weighing type



Options :

92090650129. 1
92090650130. 2
92090650131. 3
92090650132. 4

Question Number : 33 Question Id : 92090612693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fProfafad & 19 sAfieE UsR gufard g2

(1) 3710 IYH 3d UPR (2) WIZHA PR
(3) d USR (4) HRUIUPHR
Options :

92090650129. 1
92090650130. 2
92090650131. 3
92090650132. 4

Question Number : 34 Question Id : 92090612694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a rain gauge receives 10 cm rainfall in 5 hours, the average intensity of rainfall will be:

(1) 10 mm/h (2) 15 mm/h
(3) 20 mm/h (4) 25 mm/h
Options :

92090650133. 1
92090650134. 2
92090650135. 3
92090650136. 4

Question Number : 34 Question Id : 92090612694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe &1 auinrdt s g2 7 10 ¥, 1 aui urd Har ¢ o auf @ sirad digar enft

M 10fad s ge 2) 15 e
3) 20fH g (4) 25 ger
Options :

92090650133. 1
92090650134. 2
92090650135. 3
92090650136. 4

Question Number : 35 Question Id : 92090612695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a rainfall event has a return period of 20 years, the probability of exceedance for this
event will be:

(1) 0.02 (2) 0.05
(3) 0.002 (4) 0.005
Options :

92090650137. 1
92090650138. 2
92090650139. 3
92090650140. 4

Question Number : 35 Question Id : 92090612695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe feht avfur-ge &t warad= siafd 20 ot &1 8, @ 39 ve 2q sfova &t wiikwar gt

(n 0.02 (2) 0.05
(3) 0.002 (4) 0.005
Options :

92090650137. 1
92090650138. 2
92090650139. 3
92090650140. 4

Question Number : 36 Question Id : 92090612696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The rational method is generally used for computation of:

m Mean areal rainfall (2) Runoff volume
(3 Rainfall intensity (4) Peak runoff rate
Options :

92090650141. 1
92090650142. 2
92090650143. 3
92090650144. 4

Question Number : 36 Question Id : 92090612696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AH MR YTl Wr=rad_ ffiead gq Wgad gl ¢ |

) 3ud &g ador (2) drg ufmm
(3) 9ol g 4) i arg g3
Options :

92090650141. 1
92090650142. 2
92090650143. 3
92090650144. 4

Question Number : 37 Question Id : 92090612697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Total potential in soil-water does not include:

(1 Gravitational potential (2) Back potential
(3) Osmotic potential (4) Pressure potential
Options :

92090650145. 1
92090650146. 2
92090650147. 3
92090650148. 4



Question Number : 37 Question Id : 92090612697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e od ¥ $a fava safdy el swar g

() &g f@Aya (2) Y faumE
@) wrERh (4) <dfavg
Options :

92090650145. 1
92090650146. 2
92090650147. 3
92090650148. 4

Question Number : 38 Question Id : 92090612698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One bar pressure Is equal to:

(1) 10 Pascal i2) 100 Pascal
(3) 10° Pascal (4) 10° Pascal
Options :

92090650149. 1
92090650150. 2
92090650151. 3
92090650152. 4

Question Number : 38 Question Id : 92090612698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG EYSE  FRIRed el

(1 10 Urshd (2) 100 9¥&hd
(3) 10°UR&Gd (4) 10° Ohd
Options :

92090650149. 1
92090650150. 2



92090650151. 3
92090650152. 4

Question Number : 39 Question Id : 92090612699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the field capacity for a field is 30% and the permanent wilting point is 10%, the available
water for plant growth will be:

(1 20% (2) 25%
(3) 18% 4 12%

Options :

92090650153.
92090650154.
92090650155.
92090650156.

AW N~

Question Number : 39 Question Id : 92090612699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g%ﬂlﬁﬂﬁﬂﬁ'giﬁ‘éﬂﬁﬂ 30% ¢ IR @) W@l fdg 10% & i urey aefH &q Sude wd__
|

(1 20% (2) 25%
(3) 18% 4) 12%

Options :

92090650153.
92090650154.
92090650155.
92090650156.

N O R O R

Question Number : 40 Question Id : 92090612700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Darcy's law is applicable as long as the flow is:

(M Turbulent only (2) Laminar only

(3) Both Laminar and turbulent flow (4) Transient flow



Options :

92090650157. 1
92090650158. 2
92090650159. 3
92090650160. 4

Question Number : 40 Question Id : 92090612700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

siffe Fan oo srp g g sEds Uag __ © |

(1)  ad ue (2) &dd TR
(3) IR 3R U Uarg gl (4) &fore yae
Options :

92090650157. 1
92090650158. 2
92090650159. 3
92090650160. 4

Question Number : 41 Question Id : 92090612701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The intrinsic permeability of a porous medium has the dimensions of:

ay 2) et
3 L2 (4) LT?
Options :

92090650161. 1
92090650162. 2
92090650163. 3
92090650164. 4

Question Number : 41 Question Id : 92090612701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ot TR A B AN IR A L FTUE @

(1 L (2) LT
3 1 4 LT?
Options :

92090650161. 1
92090650162. 2
92090650163. 3
92090650164. 4

Question Number : 42 Question Id : 92090612702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Keeping other dimensions same, by doubling the radius of influence of the well, the
discharge of the well will be:

(1 Increased by 5% (2) Decreased by 10%
(3) Increased by 10% (4) Decreased by 5%
Options :

92090650165. 1
92090650166. 2
92090650167. 3
92090650168. 4

Question Number : 42 Question Id : 92090612702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ﬁﬁﬁﬁfﬁ'mr@ﬁ U & U & YUId &1 B $1 fETE S 8 $U $1 SH1E

(1) 5% dfdd (2) 10% gif¥d
(3) 10% dafdd (4) 5% BI¥d
Options :

92090650165. 1
92090650166. 2
92090650167. 3
92090650168. 4

Question Number : 43 Question Id : 92090612703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following methods is not used for determination of aquifer constants for
unsteady flow conditions in confined aquifer?

(1) Theis method (2)  Theim method
(3) Jacob method (4) Chow method
Options :

92090650169. 1
92090650170. 2
92090650171. 3
92090650172. 4

Question Number : 43 Question Id : 92090612703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frofafad 3 @ o1 9 yored 5 uftes Saya 7 SRR guT sae & fo sayd RRis
& fAeior 3 vt e €ieil 82

(1 939 Yol (2) UgH Yo
(3)  oiPd Yumel (4) <Td Home
Options :

92090650169. 1
92090650170. 2
92090650171. 3
92090650172. 4

Question Number : 44 Question Id : 92090612704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The formation loss in a pumping well is directly proportional to the discharge (Q) as:

(1 Q* (4) Q
k) @ 4 Q
Options :

92090650173. 1
92090650174. 2
92090650175. 3
92090650176. 4



Question Number : 44 Question Id : 92090612704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fadt qaa (dftrn) %o Sd- THE & 3md (Q) ¥ fara =g F ien wurud g € 2

(1 Q% (2) Q
3 @ 4 Q
Options :

92090650173. 1
92090650174. 2
92090650175. 3
92090650176. 4

Question Number : 45 Question Id : 92090612705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On the basis of sieve analysis of aguifer material after boring, the uniformity coefficient is
the ratio of:

) 60% material retained to 10% material retained

(2
3
(4

60% material retained to 40% material retained

—

)

) 40% material retained to 60% material retained
) 40% material retained to 90% material retained
Options :

92090650177. 1

92090650178. 2

92090650179. 3
92090650180. 4

Question Number : 45 Question Id : 92090612705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
eH T Sayd IR & o ALeor & s1YR IR UHHHH UG @1 UTd §;

(1) 60% urfd It & 10% ufya S
) 60% uried Tt & 40% enfya arEft
() 40% uifed Il | 60% enfd rrd
@) 40% urfed It & 90% enfya ardt



Options :

92090650177. 1
92090650178. 2
92090650179. 3
92090650180. 4

Question Number : 46 Question Id : 92090612706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to affinity laws, the discharge from the pump Q, and impeller speed N, are
related as:

(1) QN (2) Qo N*
(3) QN2 (4) Qo N3
Options :

92090650181. 1
92090650182. 2
92090650183. 3
92090650184. 4

Question Number : 46 Question Id : 92090612706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sy Fram & SR, R (49) Q & ST e i g w9 # wwefid 87

(1) QN (2) QuaN”
) QaN? 4) QaN?
Options :

92090650181. 1
92090650182. 2
92090650183. 3
92090650184. 4

Question Number : 47 Question Id : 92090612707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the diameter of impeller of a centrifugal pump is doubled then the total dynamic head
will be:

nm Half (2) Double
(3) 4 times (4) 8 times
Options :

92090650185. 1
92090650186. 2
92090650187. 3
92090650188. 4

Question Number : 47 Question Id : 92090612707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%mmﬁaﬂwmﬁiaﬁw%maﬁ%@mm%mmfﬁwmm

(1) 3 (2) QR
(3) ELLRIGH (4) SIS Tl
Options :

92090650185. 1
92090650186. 2
92090650187. 3
92090650188. 4

Question Number : 48 Question Id : 92090612708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the speed of the impeller of a centrifugal pump is doubled, the horse power of the pump
will

(1 Reduce to half (2) Be doubled
(3) Become 4 times (4) Become 8 times
Options :

92090650189. 1
92090650190. 2
92090650191. 3
92090650192. 4



Question Number : 48 Question Id : 92090612708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

af, frl S=sToam eued (Uu)& ave o 9rd & G & o ol & enea (du) it
3% gifad gt

(1)  Bfd giee amedt (2) g g et |
(3) AR TEE S | (4) 3T T 81 et |
Options :

92090650189. 1
92090650190. 2
92090650191. 3
92090650192. 4

Question Number : 49 Question Id : 92090612709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a centrifugal pump has water horse power of 10 H.P,, and the pump efficiency is 80%, the
required B.H.P. will be:

(M 10 H.P (2) 125H.P
£) 14 H.P (4) 18H.P
Options :

92090650193. 1
92090650194. 2
92090650195. 3
92090650196. 4

Question Number : 49 Question Id : 92090612709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofe faredt S<gurl gHed (WU )& U 10 T, B 5 314 Ufad ¢ 3R SHSd (dU) $
&{TTAT 80% & ot sifér ot wad gnft

M 10Tad (2) 125 T=d
3)  14Tad (4) 18 Ta
Options :

92090650193. 1
92090650194. 2



92090650195. 3
92090650196. 4

Question Number : 50 Question Id : 92090612710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Anemometer is used for measurement of

(M Evapotranspiration (2) Soil moisture
(3) Wind direction (4) Wind speed
Options :

92090650197. 1
92090650198. 2
92090650199. 3
92090650200. 4

Question Number : 50 Question Id : 92090612710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ygarATdt faaes HTa 8q W Bl § 2

(1 Ao (2) Hal- 3Tl
(3) uga-femm (4) Ugd-grd
Options :

92090650197. 1
92090650198. 2
92090650199. 3
92090650200. 4

Question Number : 51 Question Id : 92090612711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most economical channel section of trapezoidal shaped with 1:1 side slopes should
have the width of the channel bottom 'b’ and depth of flow as 'd’ related as:

(1) b = g— tand5° (2) b= J%temZZ.S‘*‘

(3) b = 2d tan45° (4) b =2dtan2l.5°



Options :

92090650201. 1
92090650202. 2
92090650203. 3
92090650204. 4

Question Number : 51 Question Id : 92090612711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1:1 &1 urerd UqUral & A1y FHwd! sefa & gditfe snfife yora & wona siekd &t 91eTE B
3R uHTd @1 TR o w4 H gaftrd -t 7t

(1) b =1 ST 45° (2) b =% IR 22.5°
(3) b =2d WA 45° 4) b =2d LT 22.5°
Options :

92090650201. 1
92090650202. 2
92090650203. 3
92090650204. 4

Question Number : 52 Question Id : 92090612712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a rectangular channel with bottom width as 1 m and depth of flow as 0.5 m, the hydraulic
radius will be:

(M 0.25m (2) 050m
(3) 1.50 m 4 20m
Options :

92090650205. 1
92090650206. 2
92090650207. 3
92090650208. 4

Question Number : 52 Question Id : 92090612712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



%ﬁ%@ﬁﬁmmaﬁa{mﬁg& . 3R varg &1 miRar 0.5 #. 1 f SaEd

(1) 025H. (2) 0.50 Ht.
(3) 150# @) 2.0%
Options :

92090650205. 1
92090650206. 2
92090650207. 3
92090650208. 4

Question Number : 53 Question Id : 92090612713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most economical rectangular channel section with bottom width ‘b’ and depth of flow
'd’ should be related as:

(1)  b=d ) b=%

b b

3 d=— 4 d==

(3) > (4) 2
Options :

92090650209. 1
92090650210. 2
92090650211. 3
92090650212. 4

Question Number : 53 Question Id : 92090612713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot wdftre anfl¥e smaTareR Wome SIUTT &1 sfeRde 9reTs ‘b’ 3R HaTg &t TR ‘d
_ ¥q ¥ dfia g anfeu |

d

1 b=d 2) b=—

(1) (2) >

b b

3 d=— 4 d=—

(3) > (4) 2
Options :

92090650209. 1



92090650210. 2
92090650211. 3
92090650212. 4

Question Number : 54 Question Id : 92090612714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Manning's roughness coefficient 'n’, Chezy's coefficient ‘c’ and hydraulic radius of the
section ‘R’ are related as:

(1) n=R%/c @) N=R)/c
Options :

92090650213. 1
92090650214. 2
92090650215. 3
92090650216. 4

Question Number : 54 Question Id : 92090612714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gﬁﬂaﬂwmw'n:ﬁmw'c'mmﬁm@m'ﬂ'_mﬁm

(1 n=R%/¢ (2) n=(R*)/c
" G i
(3) .:=LRﬁ] @) c=nR?
Options :

92090650213. 1
92090650214. 2
92090650215. 3
92090650216. 4

Question Number : 55 Question Id : 92090612715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An agriculture field has actual moisture content of 15% and its field capacity is 23% by
weight. If the depth of root zone is 1.0 m and specific gravity of soil is 2.5, compute the
depth of irrigation required.

(1) 10 cm (2) 15cm
(3) 20 cm (4) 25cm
Options :

92090650217. 1
92090650218. 2
92090650219. 3
92090650220. 4

Question Number : 55 Question Id : 92090612715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fart Hi-a &t arafas smear smg 15% R TS URTAR &7 uifvar 25% g1 afe wa-
& 1 R 1.0 H1. 3R Hal D1 1UfEd gied 2.5 g1 dl SAUlad =g &1 idiRd @1 uReead

(1) 1095 2) 159
(3) 209 @ 259
Options :

92090650217. 1
92090650218. 2
92090650219. 3
92090650220. 4

Question Number : 56 Question Id : 92090612716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 180 hector area is drained through a drain with average discharge rate of 2 m*/s. The
drainage coefficient will be:

(1 5.6 cm (2) 7.bcm
(3 9.6 cm (4) 106 cm
Options :

92090650221. 1
92090650222. 2
92090650223. 3



92090650224. 4

Question Number : 56 Question Id : 92090612716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

180 B3R & &) farlt sruarfes & mrerd § fd orard e 2 M2, | srqaifgd fasar wan |
3{Udrg Turids gl

(M  sedH 2) 7.691
(3) 969 (4) 10.6 Q.1
Options :

92090650221. 1
92090650222. 2
92090650223. 3
92090650224. 4

Question Number : 57 Question Id : 92090612717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The tile drains should be laid at the slope such that the minimum velocity of flow in tile
should be:

(nm 60 cm/s (2) 45 cm/s
(3) 30 cm/s (4) 25cm/s
Options :

92090650225. 1
92090650226. 2
92090650227. 3
92090650228. 4

Question Number : 57 Question Id : 92090612717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Eﬂi{mw&aﬂﬂmmwmmmmmmﬁm
dIam_____

(1 60JqHA 2) 453 A/
(3) 309H/E (4) 259/ 9

Options :



92090650225. 1
92090650226. 2
92090650227. 3
92090650228. 4

Question Number : 58 Question Id : 92090612718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of conservation practice factor for universal soil loss equation in case of up-down
cultivation is

1)y D2 (2) 04
(3) 08 (4 1.0
Options :

92090650229. 1
92090650230. 2
92090650231. 3
92090650232. 4

Question Number : 58 Question Id : 92090612718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3U-BT3 FW & T 7 AT 51 & T ARe Uil $RS &1 0 &

(1) 0.2 (2) 04
(3) 0.8 4 1.0
Options :

92090650229. 1
92090650230. 2
92090650231. 3
92090650232. 4

Question Number : 59 Question Id : 92090612719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of slope length factor in USLE for 22.1 m length of slope will be:

(1) 10 (2) 08
(3) 06 (4) 04



Options :

92090650233. 1
92090650234. 2
92090650235. 3
92090650236. 4

Question Number : 59 Question Id : 92090612719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YUY, Ud. 5. H Udurdl &1 orars e UaUIdl T HRa ST A 81

Bk 240 2] DA
(3 0.6 4) 04
Options :

92090650233. 1
92090650234. 2
92090650235. 3
92090650236. 4

Question Number : 60 Question Id : 92090612720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The bench terraces with level surface are to be built on a 30% sloped land. The vertical
interval for the terraces with 4 m width will be:

(1) 0.8m (2) 1.0m
(3) 12m (4) 16m
Options :

92090650237. 1
92090650238. 2
92090650239. 3
92090650240. 4

Question Number : 60 Question Id : 92090612720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WA gy ardl s HRI B 30% Yaurd Uiy g o1 8 | 4 1 et arelt afd@sif & feg
IR 3T 8

(1) osH, 2) 1.0
@) 124 4) 164
Options :

92090650237. 1
92090650238. 2
92090650239. 3
92090650240. 4

Question Number : 61 Question Id : 92090612721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In low rainfall zone on 4% land slope, the vertical interval for contour bunds will be:

(1 08m (2) 10m
(3) 1.2 m (4 15m
Options :

92090650241. 1
92090650242. 2
92090650243. 3
92090650244. 4

Question Number : 61 Question Id : 92090612721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4% Y-vaurd ¥ faddt sreg-adur- & ® gwie del §g S@ier 3RTd gh:

(1 0.8 (2) 1.0
@ 12 4) 154
Options :

92090650241. 1
92090650242 2
92090650243. 3
92090650244. 4

Question Number : 62 Question Id : 92090612722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A silvi-pastoral system of land use indicate the practice of growing simultaneously:

(M Horticultural and forest species (2) Grasses and legums along with trees
(3) Grasses and cereal crops (4) Horticultural and cereal crops
Options :

92090650245. 1
92090650246. 2
92090650247. 3
92090650248. 4

Question Number : 62 Question Id : 92090612722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yftr i &1 fyedt ararfe gomed wry-ary 3= 3 vyt giad sl @

(1) 39 $¥IT ud a9 uafaar (2) g&ii & a1y g iR wiewt
@) 9 SR U wad (4) ITH FE R g wud
Options :

92090650245. 1
92090650246. 2
92090650247. 3
92090650248. 4

Question Number : 63 Question Id : 92090612723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A confined aquifer of thickness 'b" and hydraulic conductivity 'k’ will have the
transmissibility 'T" as:

(1) T=k/b (2) T=kb
(3) T=k+b 4) T=(k-1).b
Options :

92090650249. 1
92090650250. 2
92090650251. 3
92090650252. 4



Question Number : 63 Question Id : 92090612723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R ‘b’ SR Saeel Araddl 'K ard uRee saee! @1 Savordiearn () & gt 2

(1) T=k/b (2) T=kb
3 T=k+b (4) T=(k-10.b
Options :

92090650249. 1
92090650250. 2
92090650251. 3
92090650252. 4

Question Number : 64 Question Id : 92090612724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The velocity of water entering the well screen is about:

(1) 1 cm/sec (2) 3 cm/sec
(3) 5 cmy/sec (4) 8 cm/sec
Options :

92090650253. 1
92090650254. 2
92090650255. 3
92090650256. 4

Question Number : 64 Question Id : 92090612724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$Y T H U HA a1 o BT FT T St B

1 139,/9 2) 3an,/a
@ 539 4) sqH/ o
Options :

92090650253. 1
92090650254. 2
92090650255. 3
92090650256. 4



Question Number : 65 Question Id : 92090612725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soil sub-injector directly supplies water to the root zone at a depth of:

(1 5-10 cm (2) 10-15cm
(3 15-20 cm (4) 20-30cm
Options :

92090650257. 1
92090650258. 2
92090650259. 3
92090650260. 4

Question Number : 65 Question Id : 92090612725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el IU-3H=q: 8t fa-t mivan v - & da At Sremafd s g 2

(M 51034 (2) 10-15 a.#
(3)  15-20 |9 (4) 20-30 |H.
Options :

92090650257. 1
92090650258. 2
92090650259. 3
92090650260. 4

Question Number : 66 Question Id : 92090612726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).

Assertion (A) : A centrifugal pump fails to deliver water.

Reasons (R) : The foot value or reflex value of the suction line is defective.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(M Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090650261. 1
92090650262. 2
92090650263. 3
92090650264. 4

Question Number : 66 Question Id : 92090612726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hi €1 du fiu U §: UH Sifiwe (Assertion A) & F4 H fifed € a1 gER1 39S HRU
(Reason R) H¥0 W

HYBUT A :  TH FHIER SHSA (UU) od UeH H3- H 3%Hd g1 ofldl 8
HRUIR : YO 3T $1 UIE HUTe 1 Ufddd HUe Ja9 8

SR Y & HTelies |, - fou e fawed] & 9 ¥ad SugeR IR &1 994 difen
(1) A ARREH U € 3R, AP TG BT &

@  ASRREH U@ g AfF R A P e e A8 B

@) AUSE AFIRID TR

4 A" TR AfBTR UG @

Options :
92090650261. 1




92090650262. 2
92090650263. 3
92090650264. 4

Question Number : 67 Question Id : 92090612727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).

Assertion (A) :  The bench terraces with inward slope are adopted in heavy rainfall areas.

Reasons (R) : The runoff generated from heavy rainfall will move towards inside length
of terraces without damaging the outer edge or shoulder bund of the

terrace,

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1 Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090650265. 1
92090650266. 2
92090650267. 3
92090650268. 4

Question Number : 67 Question Id : 92090612727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& oy Ru e € ud afirsuA (Assertion A) & w0 H fif@d 8 o) gER1 39F HRUI

(Reason R) & ¥Y H:

sy A ;- W anf ard &t A smawR yaurd areft afde H sifted St &

HRUIR Uil aef 9 S are it #1 sialte Tars &1 3R aredl A a1 afes
W dy o fa gfa g e smem

TG FYT & el |, -1 3 e faadl # ¥ 998 gugad I &1 9971 Sifeg

(1) ASIRREH U8 T AR R, A B TS IS §

@ A SRR UG g, AfFA R, A B Ul e T 8
@) AW afFIRIAE

@) ATHTHE AFTRIG

Options :

92090650265. 1
92090650266. 2
92090650267. 3
92090650268. 4

Question Number : 68 Question Id : 92090612728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soil erosion by water has a sequence of processes as follows:

(A) Hill erosion

(B) Gully erosion

(C)  Sheet erosion

(D)  Stream bank erosion

(E) Rain drop erosion

Choose the correct answer from the options given below :

(1 (€ (A), (E). (D), (B)
(2) (B (B), (D), (A), (Q)
(3) (A (Q) (B, (E), (D)
4 (B (Q) (A) (B), (D)

Options :

92090650269. 1
92090650270. 2
92090650271. 3



92090650272. 4

Question Number : 68 Question Id : 92090612728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wd & gRI el 3ue &1 ufspansit o1 srmd Frafufed &

A &g gfvar sfoves

B.  3fa-Ifeial URe

C. Ud g

D. TRdrde HuEd

E. 99l fdg eraveq

1= feu o fawed) © @ 9l IR &1 99 Sife -

(1) CAEDB

() EB,DAC

3 ACBED

4 ECABD
Options :

92090650269. 1
92090650270. 2
92090650271. 3
92090650272. 4

Question Number : 69 Question Id : 92090612729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | :  Snowfall and hail are the forms of precipitation.

Statement I :  Convective and orographic are also the forms of precipitation.

In the light of the above statements, choose the correct answer from the options given
below :

(M Both Statement | and Statement |l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement |l is incorrect

(4) Statement | is incorrect but Statement Il is correct

Options :

92090650273. 1
92090650274. 2
92090650275. 3
92090650276. 4

Question Number : 69 Question Id : 92090612729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R sy

Y1 ;.  feHura vd HIwiysiar avu & yeR g1
Y1 :  HagteiR gt ot avor & usR 21
IRIT FYH & et 1, A= f2u mu fasadi 8 § wat 3w &1 994 Fifo:
(1)  FFI RIS EaR

()  BYTI SR 1 S 3T §

(3) HYTI I g, dfhd HUT Il 3T §

4) YT 3T g, dipT YT 1 T ©
Options :

92090650273. 1

92090650274. 2

92090650275. 3
92090650276. 4



Question Number : 70 Question Id : 92090612730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement | :  Orographic type of precipitation generally occurs in coastal areas.

Ctatament Il : Convactive type of starm pracipitation gem}rally accure in hilly araac.

In the light of the above statements, choose the correct answer from the options given
below :

(nm Both Statement | and Statement |l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

Options :

92090650277. 1
92090650278. 2
92090650279. 3
92090650280. 4

Question Number : 70 Question Id : 92090612730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R sy R

HYT1 - U0 BT gIETN yeR SrHrTaa adty asf 7 ufed gt g1
HYFI ;. FraTd JUUT 1 Ydg YR ATl udard & F ufed gan 8
SR Y F HTelies H, - fu e fawedl § 9 9l 3w &1 994 S

(1) YIRS Ta
@ By SR EHl s g
3) ©YF | TA g, Afp U Il 3 ET §
@) HYT MY g, AfF FUT 1 T ¢

Options :
92090650277. 1



92090650278. 2
92090650279. 3
92090650280. 4

Question Number : 71 Question Id : 92090612731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : In a float type rain gauge, the siphoning takes place after collecting 10
mm rainfall.
Statement |l . The tipping bucket type rain gauge generally works for the

measurement of 10 cm rainfall in a day.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are correct

(#) Both Statement | and Statement |l are incorrect

(3) Statement | 1s correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct
Options :

92090650281. 1
92090650282. 2
92090650283. 3
92090650284. 4

Question Number : 71 Question Id : 92090612731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R a pyE R g:

FY1 ;10 9 Il F oAU F UYTd U @t UHR auiaTd F Tt F g a5 A
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Y II:  cUDH SIdl YR quiHrd] graraaar 10 941, o & |iu+ g B ol gl
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1)  HYH RIS TaR
) HY 3R EH 9T 8
(3) YT T e, A FYF 1l 3T 8
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Options :

92090650281. 1
92090650282. 2
92090650283. 3
92090650284. 4

Question Number : 72 Question Id : 92090612732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : The rainfall intensity at a place is generally inversely proportional to its
duration.
Statement || . Isohyet method can be used to compute rainfall intensity at a place.

In the light of the above statements, choose the correct answer from the options given
below :

(1 Both Statement | and Statement |l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement |l is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :

92090650285. 1
92090650286. 2
92090650287. 3
92090650288. 4



Question Number : 72 Question Id : 92090612732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR FERume:
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Options :

92090650285. 1
92090650286. 2
92090650287. 3
92090650288. 4

Question Number : 73 Question Id : 92090612733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | :  Evapotranspiration depends on temperature and relative
humidity.
Statement II :  Runoff generally depends on the climatic and physiographic factors.

In the light of the above statements, choose the correct answer from the options given
below :

(1
(2)
(3)
(4)

Both Statement | and Statement |l are correct
Both Statement | and Statement Il are incorrect
Statement | is correct but Statement Il is incorrect

Statement | is incorrect but Statement Il is correct

Options :

92090650289. 1
92090650290. 2
92090650291. 3
92090650292. 4

Question Number : 73 Question Id : 92090612733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

92090650289. 1
92090650290. 2
92090650291. 3
92090650292. 4



Question Number : 74 Question Id : 92090612734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . In asoil sample, the porosity (n) and void ratio (e) are related as: n=
e(1-n)

Statement Il : The dry bulk density of a soil sample is more than the wet bulk
density.

In the light of the above statements, choose the correct answer from the options given
below :

(M Both Statement | and Statement |l are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

Options :

92090650293. 1
92090650294. 2
92090650295. 3
92090650296. 4

Question Number : 74 Question Id : 92090612734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090650293. 1
92090650294. 2
92090650295. 3
92090650296. 4

Question Number : 75 Question Id : 92090612735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  Soil texture can be changed by cultural practices.

Statement |l :  Soil structure can be modified by cultural practices.

In the light of the above statements, choose the correct answer from the options given
below :

(n Both Statement | and Statement |l are correct

(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct
Options :

92090650297. 1
92090650298. 2
92090650299. 3
92090650300. 4

Question Number : 75 Question Id : 92090612735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090650297. 1
92090650298. 2
92090650299. 3
92090650300. 4

Question Number : 76 Question Id : 92090612736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  As per USDA, the clay particles have diameter less than
0.002 mm.
Statement I :  As per USDA, the gravel in a soil sample has the particle diameter

more than 5 mm.

In the light of the above statements, choose the correct answer from the options given
below:

(1 Both Statement | and Statement |l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement [l is incorrect
(4) Statement | is incorrect but Statement 1l is correct
Options :
92090650301. 1
92090650302. 2

92090650303. 3
92090650304. 4



Question Number : 76 Question Id : 92090612736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R Fyfem g
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Options :

92090650301. 1
92090650302. 2
92090650303. 3
92090650304. 4

Question Number : 77 Question Id : 92090612737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement | : A flowing artesian well penetrates the upper impervious layer of
a confined aquifer.

Statement || :  The peizometric surface in an artesian well remains below the ground
surface.

In the light of the above statements, choose the correct answer from the options given
below:

(m Both Statement | and Statement 1l are correct

(2) Both Statement | and Statement |l are incorrect

3 Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

Options :
92090650305. 1



92090650306. 2
92090650307. 3
92090650308. 4

Question Number : 77 Question Id : 92090612737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR JFHRTMWE:
PYAI ?mm@mmmasmmmmawm
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FY 1 5 e $u H ae Tt gy o 9 & AR I Rear gl
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3)  ®YF I TA g, AT HUT Il T 8
4) HYT A g, AfFT HUT 1 T &

Options :

92090650305. 1
92090650306. 2
92090650307. 3
92090650308. 4

Question Number : 78 Question Id : 92090612738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement | :  For unconfined aquifer, the sum of specific yield and specific
retention is equal to porosity.

Statement Il . In confined aquifer the product of hydraulic conductivity and thickness

of aquifer is called transmissivity of the aquifer.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement |l are incorrect

(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct
Options :

92090650309. 1
92090650310. 2
92090650311. 3
92090650312. 4

Question Number : 78 Question Id : 92090612738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090650309. 1
92090650310. 2
92090650311. 3
92090650312. 4



Question Number : 79 Question Id : 92090612739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . Evapotranspiration for a crop can be estimated as a product of
pan evaporation and crop coefficient.

Statement I :  Evapotranspiration can not be measured under field conditions.

In the light of the above statements, choose the correct answer from the options given
below :

(1 Both Statement | and Statement Il are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement 1l is incorrect

(4) Statement | is incorrect but Statement Il is correct

Options :

92090650313. 1
92090650314. 2
92090650315. 3
92090650316. 4

Question Number : 79 Question Id : 92090612739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090650313. 1
92090650314. 2
92090650315. 3
92090650316. 4

Question Number : 80 Question Id : 92090612740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement | :  Peizometric level is related to unconfined aquifers.

Statement Il : A confined aquifer has water table as the water level.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :

92090650317. 1
92090650318. 2
92090650319. 3
92090650320. 4

Question Number : 80 Question Id : 92090612740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090650317. 1
92090650318. 2

92090650319. 3
92090650320. 4

Question Number : 81 Question Id : 92090612741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement | . If two centrifugal pumps are connected in series, the total
discharge will become double.

Statement I :  If two centrifugal pumps are connected in series, the total head
developed will become double.

In the light of the above statements, choose the correct answer from the options given
below :

(1 Both Statement | and Statement |l are true

(2) Both Statement | and Statement Il are false

(3) Statement | is true but Statement |l is false

4 Statement | is false but Statement Il is true
Options :

92090650321. 1
92090650322. 2



92090650323. 3
92090650324. 4

Question Number : 81 Question Id : 92090612741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090650321. 1
92090650322. 2
92090650323. 3
92090650324. 4

Question Number : 82 Question Id : 92090612742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . If two centrifugal pumps are joined in parallel, the total
discharge will become double.

Statement Il . If two centrifugal pumps are joined in parallel, the total head
developed will become double.

In the light of the above statements, choose the correct answer from the options given
below :

(1 Both Statement | and Statement |l are true
(2) Both Statement | and Statement || are false
(3) Statement | is true but Statement Il is false

(&) Statement | is false but Statement Il is true

Options :

92090650325. 1
92090650326. 2
92090650327. 3
92090650328. 4

Question Number : 82 Question Id : 92090612742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090650325. 1
92090650326. 2
92090650327. 3



92090650328. 4

Question Number : 83 Question Id : 92090612743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . Ajet pump is used when the suction lift of centrifugal pump
exceeds the permissible limit.

Statement Il :  The air lift pump uses compressed air for lifting water.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :

92090650329. 1
92090650330. 2
92090650331. 3
92090650332. 4

Question Number : 83 Question Id : 92090612743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 84 Question Id : 92090612744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  Rotary pump is a positive displacement pump.

Statement |l :  Reciprocating pump is rotodynamic pump.

In the light of the above statements, choose the correct answer from the options given
below :

(m Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false
(4) Statement | is false but Statement Il is true

Options :

92090650333. 1

92090650334. 2

92090650335. 3
92090650336. 4



Question Number : 84 Question Id : 92090612744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090650333. 1
92090650334. 2

92090650335. 3
92090650336. 4

Question Number : 85 Question Id : 92090612745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  Well development can be done by surging method.

Statement I . Water jet method is used for well drilling.

In the light of the above statements, choose the correct answer from the options given
below :

(m Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :
92090650337. 1



92090650338. 2
92090650339. 3
92090650340. 4

Question Number : 85 Question Id : 92090612745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fRaeEfme

&Y ;. U ulkatq, Wienyv faft gri fara sran wdar g
HYF 1 o ore faeht &1 o $u uayH g b s gl
JUldd by & felled #H, A1 fqu U fasedl 7 4 wgl I &1 =9g4 Sifeg:

M)  HYEI MR NSH I e
2) YT MR I SH SE €
)

)

—

3)  BYTIUI g, Al HYT 11 3T 8
@) YT MTAE APTFYT I T ©

—

Options :

92090650337. 1
92090650338. 2
92090650339. 3
92090650340. 4

Question Number : 86 Question Id : 92090612746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Agricultural drainage is necessary for the removal of excess water
from root zone.

Statement Il . Drainage is required for the removal of salts from the root zone.

In the light of the above statements, choose the correct answer from the options given
below :

)] Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false
(4 Statement | is false but Statement Il is true

Options :

92090650341. 1
92090650342. 2
92090650343. 3
92090650344. 4

Question Number : 86 Question Id : 92090612746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RamafRrme

U1 . a8 9 ool o & P ¥ F Sarg o HaEF B
HUI A 49 Y 9901 & 3UTTH &G AUATE O B AL it B
IR dYH & 3l H, =g fGu 7 fadeul 7 9 96l I &1 994 Difon:

(1)  sYTIRIIA TR
() HYI1 R I SH S
(3) HYFITA g, dfbd HUF 11 T B
@) HY A, AP FU N TI

Options :
92090650341. 1



92090650342. 2
92090650343. 3
92090650344. 4

Question Number : 87 Question Id : 92090612747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : Hooghoudt's equation is used to design the sub-surface drainage
system.

Statement I :  Manning's equation can be used to design the open ditch drainage
system.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement |l is true

Options :

92090650345. 1
92090650346. 2
92090650347. 3
92090650348. 4

Question Number : 87 Question Id : 92090612747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RasEfRume
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@) FHYTI IS, AP HYT I TA €
Options :
92090650345. 1
92090650346. 2

92090650347. 3
92090650348. 4

Question Number : 88 Question Id : 92090612748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . Mole drainage is used for surface drainage of an area.

Statement Il :  Mole drains are made with the help of mole plough and mole plug.

In the light of the above statements, choose the correct answer from the options given
below :

(m Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false

(4 Statement | is false but Statement Il is true

Options :



92090650349. 1
92090650350. 2
92090650351. 3
92090650352. 4

Question Number : 88 Question Id : 92090612748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R e feume:

FYT1 ;e &7 & gy sruare ¥ Wi fuaTe WG S o
FUTI:  HIded Ud Hid ST B Herhdl 9 Aid Suaifgeti 9418 St ¢ |
JWIad FU- & Tt 1, A fu o el 1 4 uet I &1 79 i

1)  FF RIS TaR
@  ®YTI SR IS A g
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Options :

92090650349. 1
92090650350. 2
92090650351. 3
92090650352. 4

Question Number : 89 Question Id : 92090612749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | : Contour cultivation and contour bundling are biological
measures for measures for erosion control.

Statement II : Graded bundling and terracing are engineering measures for control

of soil erosion.

In the light of the above statements, choose the correct answer from the options given
below :

()] Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
3 Statement | is true but Statement Il is false
(4) Statement | is false but Statement Il is true

Options :

92090650353. 1
92090650354. 2
92090650355. 3
92090650356. 4

Question Number : 89 Question Id : 92090612749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090650353. 1



92090650354. 2
92090650355. 3
92090650356. 4

Question Number : 90 Question Id : 92090612750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . Brushwood edging can be used for the protection of stream
banks.
Statement Il . Sodding or turfing can be used for protection of stream bank slopes.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false

(3) Statement | is true but Statement Il is false

(4 Statement | is false but Statement Il is true

Options :

92090650357. 1
92090650358. 2
92090650359. 3
92090650360. 4

Question Number : 90 Question Id : 92090612750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090650357. 1
92090650358. 2
92090650359. 3
92090650360. 4

Question
Question

Number : 91 Question Id : 92090612751 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . Vegetative measures and tillage practices can reduce wind
erosion.
Statement |l :  Vegetation cover and chemical measures can be used for stabilization

of sand dunes.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement |l are true

(2) Both Statement | and Statement Il are false

(3) Statement | is true but Statement |l is false

4) Statement | is false but Statement Il is true

Options :

92090650361. 1
92090650362. 2



92090650363. 3
92090650364. 4

Question Number : 91 Question Id : 92090612751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090650361. 1

92090650362. 2

92090650363. 3
92090650364. 4

Question Number : 92 Question Id : 92090612752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Initiation and saltation are the phases of wind erosion.

Statement Il : Suspension and transportation are the types of movement of soil
particles by wind.

In the light of the above statements, choose the correct answer from the options given
below :

()] Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4 Statement | is false but Statement Il is true

Options :

92090650365. 1
92090650366. 2
92090650367. 3
92090650368. 4

Question Number : 92 Question Id : 92090612752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090650365. 1
92090650366. 2
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92090650368. 4

Question Number : 93 Question Id : 92090612753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  The volute type of centrifugal pump is preferred for lower
discharge.
Statement Il :  Volute type pump is desirable for low head applications.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false

(4 Statement | is false but Statement Il is true
Options :
92090650369. 1
92090650370. 2
92090650371. 3
92090650372. 4

Question Number : 93 Question Id : 92090612753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090650369. 1
92090650370. 2

92090650371. 3
92090650372. 4

Question Number : 94 Question Id : 92090612754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The types of surface drainage system used in flat areas include:
(A)  Random drain system
(B) Tile drain system
(C) Parallel field drain system
(D)  Parallel open ditch system
(E) Bedding system

Choose the correct answer from the options given below :

(1) (A), (B), (D), () only
2 (A (O) (D). (E) only
(3)  (B) (C). (D), (E) only
4)  (A), (B), (C), (D) only
Options :
92090650373. 1
92090650374. 2

92090650375. 3
92090650376. 4



Question Number : 94 Question Id : 92090612754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090650373. 1
92090650374. 2
92090650375. 3
92090650376. 4

Question Number : 95 Question Id : 92090612755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List 11
(A) Hydraulic ram () Priming
(B) Centrifugal pump ()  Under water operation
(C)  Air lift pump () No external power source
(D) Submersible pump (IV) Compressed air

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(lm), (Q)-(1V), (D)-(11)
(2)  (A)-(), (B)-(D), (C)-(1), (D)-(IV)
(3)  (A)-(l), (B)-(D), (C)-(1V), (D)-(II)
@ (A=, (B)-(I1), (C)-(IN), (D)-(IV)

Options :

92090650377 1
92090650378. 2
92090650379. 3
92090650380. 4

Question Number : 95 Question Id : 92090612755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G | & a1 = 11 61 e Sifo

G- g1l
(A) Saegl gAY (1)  SUHIH
(B) HSITUN (gHEa) Ug (1) ST v
(€ 91 ISP GHSE(UY) () ®rg arg1 AfFa-&a T8l
(D) Mg gaEd @) (1v) Idifgaayg

i fau T fasedt & O 9 IR &1 994 e

(M (A)-(), (B)-(), (C)-(1V), (D)-(I)

(2) (A)-(11), (B)-(1), (C)-(111), (D)-(1V)

(3) (A=), (B)-(1), (C)-(1V), (D)-(1I)

@ (A=, (B)-(I, (C)-(11), (D)-(IV)
Options :

92090650377. 1
92090650378. 2



92090650379. 3
92090650380. 4

Question Number : 96 Question Id : 92090612756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
(A) Cavity well ()  Uniformity coefficient
(B) Sieve analysis (I No strainer
(C) Gravitational water (I Soil moisture
(D) Tensiometer (V) Free water

Choose the correct answer from the options given below :

(1 (A, (B)-(1), (C)-(1V), (D)-(IlT)
(2) (A1), (B)-(1), (C)-(1V), (D)-(IlN)
(3 (A, (B)-(IV), (C)-(D), (D)-(1lT)
(4) (A)-(1m), (B)-(1), (C)-(11), (D)-(IV)

Options :

92090650381. 1
92090650382. 2
92090650383. 3
92090650384. 4

Question Number : 96 Question Id : 92090612756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(M (A)-(), (B)-(1), (C)-(IV), (D)-(1lT)
(2 (A=) (B)-(IN), (Q)-(1V), (D)-(lIT)
(3)  (A)-(), (B)-(IV), (C)-(1), (D)-(I)
@ (A)-(), (B)-(1), (C)-(11), (D)-(IV)

Options :

92090650381. 1
92090650382. 2
92090650383. 3
92090650384. 4

Question Number : 97 Question Id : 92090612757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List 1l
(A) Duty (I  Stream bank erosion
(B) Spur (I Wind erosion
(C) Surface creep (i)  Agroforestry system
(D) Alley cropping (IV) Depth of water

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(1), (C)-(IV), (D)-(II)

(2)  (A)-(l), (B)-(IV), (C)-(1), (D)-(IlN)

(3)  (A)-(IV), (B)-(1), (C)-(l), (D)-(1I)
)

(4 (A)-(IV), (B)-(11T), (C)-(1), (D)-(1I)

Options :
92090650385. 1
92090650386. 2



92090650387. 3
92090650388. 4

Question Number : 97 Question Id : 92090612757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T | & a1 = 1 T e Sl

-1 -1l
(A) SEHM () ERdrde e
(B) D () drg e
(© gET Tuo () FiRaret womed
o) fafd-wwm (V) od Bt TR
4 fau o fawed! O @ Ul IR &1 79U Fifow:

(M (A1), (B)-(1), (C)-(1V), (D)-(IT)
(2)  (A)-(l), (B)-(IV), (C)-(1), (D)-(Ii)
(3 (A)-(IV), (B)-(1), (C)-(l1), (D)-(IN)
@ (A)-(V), (B)-(Il), (C)-(1), (D)-(1)

Options :

92090650385. 1

92090650386. 2

92090650387. 3
92090650388. 4

Question Number : 98 Question Id : 92090612758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List |
(A) Herring bone
(B) Impeller
(C) Surging
(D) Aquiclude

0
(1
()
(V)

List Il

Centrifugal pump
Well development
Aquifer

Tile drainage

Choose the correct answer from the options given below :

(M (A1, (B)-(H), (C)-(I1), (D)-(IV)
(2)  (A)-(I), (B)-(IV), (C)-(liN), (D)-(IT)
(3)  (A)-(I, (B)-(In), (C)-(IV), (D)-(1)
@ (A)-(IV), (B)-(I), (C)-(ln), (D)-(I)

Options :

92090650389. 1
92090650390. 2
92090650391. 3
92090650392. 4

Question Number : 98 Question Id : 92090612758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tt | & T = 1@ fiaE S

Gel-| Il
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(M (A=), (B)-(H), (C)-(1), (D)-(IV)

(2) (A1), (B)-(IV), (C)-(llI), (D)-(11)

(3)  (A)-(1), (B)-(IN), (C)-(1V), (D)-(I)

4 (A)-(IV), (B)-(1), (C)-(l1), (D)-(lIT)
Options :

92090650389. 1
92090650390. 2



92090650391. 3
92090650392. 4

Question Number : 99 Question Id : 92090612759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il -

List | List 11
(A) Chute spillway () Dnp irngation
(B) Anti-seep collar ()  Drop inlet structure
(C) Grid iron (Il1y  SAF stilling basin
(D) Emitters (V) Tile drains

Choose the correct answer from the options given below :

(1 (A)-(), (B)-(1V), (C)-(1), (D)-(HI)
(2) (A=), (B)-(In, (C)-(IV), (D)-()
(3 (A)-(I), (B)-(), (C)-(11), (D)-(IV)
@) (A)-(), (B)-(h), (C)-(1), (D)-(IV)

Options :

92090650393. 1
92090650394. 2
92090650395. 3
92090650396. 4

Question Number : 99 Question Id : 92090612759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A)  vafreT sftreg Tt M = (de) R
(B) R f=ig Bier (I GULESEER
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e feu o fawedt & Q@ Wl IR &1 99 Sifoe:

(M (A)-(D, (B)-(1V), (C)-(l), (D)-(IIN)
(2)  (A)-(1), (B)-(I), (C)-(IV), (D)-(I)
(3) (A=, (B)-(D, (C)-(11), (D)-(1V)
@) (A, (B)-(I, (C)-(D, (D)-(IV)

Options :

92090650393. 1
92090650394. 2
92090650395. 3
92090650396. 4

Question Number : 100 Question Id : 92090612760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
(A) Arcview h Gls
(B) Plotter (I Software
(C) Raster (Il Land use-land cover
(D) Thematic map (V) Hardware

Choose the correct answer from the options given below :

(10 A-0), (B)-(V), (©)-(l), (D)-(1)
(2) (A1), (B)-(1), (C)-(11), (D)-(IV)
(3)  (A)-(1I), (B)-(I), (C)-(1V), (D)-(I)
4) (A, (B)-(1IV), (C)-(1), (D)-(1iI)

Options :
92090650397. 1



92090650398. 2
92090650399. 3
92090650400. 4

Question Number : 100 Question Id : 92090612760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y1 | & 1Y Gt 11 &1 e Sifee
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(M (A)-(D), (B)-(1V), (C)-(l1), (D)-(III)
(2) (A=), (B)-(D), (C)-(HD), (D)-(1V)
(3) (A=), (B)-(l1), (C)-(1v), (D)-(I)
@) (A=), (B)-(IV), (Q)-(1), (D)-(1)

Options :
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92090650400. 4



